Example 31-127]
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Whole-body dose.

what whole-body dose is received by a 70-kg laboratory worker exposed +o a 40-mCi ,;Co source ,
assuming the Pcrsow s body has cross-sectional area |5 mt and is normally about 4.0 m from the source
for 4.0 1 per day? °c_° emits rays of energy1.33 WMeV and 117 MeV in quick succession.
Approximately 50%% of the rays interact in the body and deposit all their evergy. (The rest pass

through.)
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Whole-body dose.
What whole-body dose is received by a 70-kg laboratory worker exposed to a 40-mCi ,:,,Co source ,
assuming the person’s body has cross-sectional area [-5m® avnd is vormally about 4.0 m from +he source
for 4.0 h per day? ‘OCQ emits rays of evergy1.33 MeV and 1147 WeV in quick succession.
Approximately 50%% of the rays interact in the body and deposit all their energy. (The rest pass

through.)
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